



Vendor Ranking

Page 1 of 1

Letting: 04260109 **January 09, 2026 10:30 AM** **Call Order:** 004 **Contract:** E4Y52
District: District 4 **Counties:** DIST/ST-WIDE **Fed Aid No:** N/A
Contract Time: 730 CALENDAR DAYS **Project(s):** 44476887201 (*)
Contract Desc: DISTRICTWIDE STRUCTURES REPAIRS PUSHBUTTON

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	P&P CONTRACTING, INC.	Responsive	Winning bid	\$789,420.00	100.00%
2	BRIDGE MASTERS CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$1,151,265.00	145.84%
3	JONES BENITEZ CORPORATION	Responsive	Non-Winning Bid	\$1,296,900.00	164.29%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

BEGIN DATE:

02/03/26

BEGIN TIME:

10:30 AM

END DATE:

02/06/26

END TIME:

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 800,000.00 and not the contractor's bid total.



Tabulation of Bids

Page 1 of 7

Letting: 04260109 January 09, 2026**Call Order:** 004**Contract:** E4Y52**District:** District 4**Counties:** DIST/ST-WIDE**Fed Aid No:** N/A**Contract Time:** 730 CALENDAR DAYS**Project(s):** 44476887201 (*)**Contract Descr:** DISTRICTWIDE STRUCTURES REPAIRS PUSHBUTTON

The work under this Contract consists of a Work Document driven contract to perform routine and priority repairs on structures including but not limited to, the repair or replacement of expansion joints, concrete spalls, rip rap, cleaning concrete surfaces, and other miscellaneous concrete and steel repairs, at various locations throughout District 4.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$800,000.00 and not the contractors bid total over the two (2) year term of the contract.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each item to be bid. The Department's estimated quantities are used to establish unit prices bids which will then be used to determine the low bidder and contract award. The actual reimbursement to the Contractor will be based on the unit price of the actual amount of work authorized, completed, and approved by the Engineer.

•REQUIRED SUBMITTAL WITH BID: Bridge Repair Experience Form 850-070-04

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2025-26 (SECTION 7-13)
FOR INSURANCE: LIMITS

•MARINE GENERAL LIABILITY:

When the Contract involves work on bridges over navigable waters, carry Marine General Liability insurance providing continuous coverage for third-party personal injury and property damage caused by vessels used by the contractor in the performance of the work. Such insurance shall be no more restrictive than that provided by the latest occurrence form edition of the standard Commercial General Liability Coverage Form (ISO Form CG 00 01) as filed for use in the State of Florida. Cause the Department to be made an Additional Insured as to such insurance. Such coverage shall be on an "occurrence" basis and shall include Products/Completed Operations coverage. The coverage afforded to the Department as an Additional Insured shall be primary as to any other available insurance and shall not be more restrictive than the coverage afforded to the Named Insured. The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$4,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy.

*Reviewed Funds Approval and encumbrance processing is contingent upon Annual Legislative appropriation.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) P&P CONTRACTING, INC.	(2) BRIDGE MASTERS CONSTRUCTION, LLC		(3) JONES BENITEZ CORPORATION	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price



Tabulation of Bids

Page 2 of 7

Letting: 04260109 January 09, 2026			Call Order: 004		Contract: E4Y52			
Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) P&P CONTRACTING, INC.		(2) BRIDGE MASTERS CONSTRUCTION, LLC		(3) JONES BENITEZ CORPORATION	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH								
0005 0102 14 TRAFFIC CONTROL OFFICER		175.000 HR	100.00000	17,500.00	85.00000	14,875.00	100.00000	17,500.00
0010 0104 11 FLOATING TURBIDITY BARRIER		520.000 LF	20.00000	10,400.00	5.00000	2,600.00	60.00000	31,200.00
0015 0110 3 4 REMOVAL OF EXISTING SAND CEMENT RIPRAP - FOR PUSH BUTTON/MAINTENANCE CONTRACTS ONLY		100.000 SF	100.00000	10,000.00	100.00000	10,000.00	60.00000	6,000.00
0020 0110 8 3 UNDERWATER DEBRIS REMOVAL		50.000 CY	500.00000	25,000.00	500.00000	25,000.00	2,000.00000	100,000.00
0025 0110 71 1 BRIDGE FENDER SYSTEM, REMOVAL & DISPOSAL		20.000 LF	2,500.00000	50,000.00	1,000.00000	20,000.00	3,000.00000	60,000.00
0030 0121 70 2 FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		55.000 CY	300.00000	16,500.00	500.00000	27,500.00	500.00000	27,500.00
0035 0305 1 BITUMINOUS CRACK AND JOINT SEALING FOR ASPHALTIC CONCRETE ROADWAY		750.000 LF	50.00000	37,500.00	40.00000	30,000.00	20.00000	15,000.00
0040 0350 5 CLEANING & SEALING JOINTS- CONCRETE PAVEMENT		1,000.000 LF	30.00000	30,000.00	25.00000	25,000.00	30.00000	30,000.00



Tabulation of Bids

Page 3 of 7

Letting: 04260109 January 09, 2026			Call Order: 004		Contract: E4Y52			
Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) P&P CONTRACTING, INC.		(2) BRIDGE MASTERS CONSTRUCTION, LLC		(3) JONES BENITEZ CORPORATION	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH								
0045 0400 2 4 CONC CLASS II, BRIDGE SUPERSTRUCTURE		10.000 CY	1,000.00000	10,000.00	1,500.00000	15,000.00	1,250.00000	12,500.00
0050 0400 2 5 CONCRETE CLASS II, BRIDGE SUBSTRUCTURE		8.000 CY	1,000.00000	8,000.00	2,000.00000	16,000.00	1,500.00000	12,000.00
0055 0400 2 11 CONCRETE CLASS II, RETAINING WALLS		8.000 CY	1,000.00000	8,000.00	2,500.00000	20,000.00	900.00000	7,200.00
0060 0400 4 4 CONCRETE CLASS IV, SUPERSTRUCTURE		8.000 CY	1,000.00000	8,000.00	1,500.00000	12,000.00	1,250.00000	10,000.00
0065 0400 4 5 CONCRETE CLASS IV, BRIDGE SUBSTRUCTURE		8.000 CY	1,000.00000	8,000.00	2,000.00000	16,000.00	1,750.00000	14,000.00
0070 0400143 CLEANING & COATING CONCRETE SURFACE, CLASS 5		1,000.000 SF	20.00000	20,000.00	10.00000	10,000.00	15.00000	15,000.00
0075 0400145 CLEANING CONCRETE SURFACE		2,010.000 SF	2.00000	4,020.00	4.00000	8,040.00	5.00000	10,050.00
0080 0400153 NON SHRINK GROUT, F&I, MISCELLANEOUS- STRUCTURES REHAB		110.000 CF	150.00000	16,500.00	500.00000	55,000.00	500.00000	55,000.00



Tabulation of Bids

Page 4 of 7

Letting: 04260109 January 09, 2026			Call Order: 004		Contract: E4Y52			
Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) P&P CONTRACTING, INC.		(2) BRIDGE MASTERS CONSTRUCTION, LLC		(3) JONES BENITEZ CORPORATION	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH								
0085 0401 70 1 RESTORE SPALLED AREAS, EPOXY		150.000 CF	300.000000	45,000.00	500.000000	75,000.00	800.000000	120,000.00
0090 0401 70 5 RESTORE SPALLED AREAS, CONTRACTORS OPTION		25.000 CF	500.000000	12,500.00	850.000000	21,250.00	750.000000	18,750.00
0095 0411 1 EPOXY MATERIAL FOR CRACK INJECTION- STRUCTURES REHAB		50.000 GA	100.000000	5,000.00	100.000000	5,000.00	250.000000	12,500.00
0100 0411 2 CRACKS INJECT & SEAL- STRUCTURES REHAB		500.000 LF	30.000000	15,000.00	80.000000	40,000.00	60.000000	30,000.00
0105 0415 1 6 REINFORCING STEEL- MISCELLANEOUS		200.000 LB	60.000000	12,000.00	10.000000	2,000.00	20.000000	4,000.00
0110 0457 1 22 STANDARD INTEGRAL PILE JACKET, STRUCTURAL, 16.1 to 30.0"		10.000 LF	3,000.000000	30,000.00	8,000.000000	80,000.00	3,000.000000	30,000.00
0115 0457 2221 CATHODIC PROTECTION INTEGRAL PILE JACKET, STRUCTURAL, 16.1-30.", GALVANIC SYSTEM		10.000 LF	5,000.000000	50,000.00	10,000.000000	100,000.00	4,500.000000	45,000.00
0120 0458 1 21 BRIDGE DECK EXPANSION JOINT, REHABILITATION, POURED JOINT WITH BACKER ROD		1,000.000 LF	25.000000	25,000.00	50.000000	50,000.00	100.000000	100,000.00



Tabulation of Bids

Page 5 of 7

Letting: 04260109 January 09, 2026			Call Order: 004		Contract: E4Y52			
Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) P&P CONTRACTING, INC.		(2) BRIDGE MASTERS CONSTRUCTION, LLC		(3) JONES BENITEZ CORPORATION	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH								
0125 0458 2		55.000	600.00000	33,000.00	800.00000	44,000.00	900.00000	49,500.00
POLYMER NOSING FOR BRIDGE DECK EXPANSION JOINT		CF						
0130 0460 1 13		250.000	50.00000	12,500.00	100.00000	25,000.00	45.00000	11,250.00
STRUCTURAL STEEL REHAB- BOLTS, NUTS, WASHERS & PLATES		LB						
0135 0460 94		15.000	1,000.00000	15,000.00	1,000.00000	15,000.00	150.00000	2,250.00
STRUCTURAL STEEL REPAIR- WELDS		LF						
0140 0471 1 1		1.000	25,000.00000	25,000.00	25,000.00000	25,000.00	40,000.00000	40,000.00
FENDER SYSTEM,PLASTIC MARINE LUMBER,REINFORCED		MB						
0145 0471 1 2		1.000	25,000.00000	25,000.00	25,000.00000	25,000.00	50,000.00000	50,000.00
FENDER SYSTEM,PLASTIC MARINE LUMBER, NON-REINFORCED		MB						
0150 0515 2600		1.000	10,000.00000	10,000.00	2,000.00000	2,000.00	200.00000	200.00
PEDESTRIAN / BICYCLE RAILING, REPLACE INFILL PANEL		EA						
0155 0524 2 2		100.000	200.00000	20,000.00	200.00000	20,000.00	200.00000	20,000.00
CONCRETE SLOPE PAVEMENT,NON REINFORCED, 4"		SY						
0160 0530 1100		60.000	750.00000	45,000.00	750.00000	45,000.00	800.00000	48,000.00
RIPRAP, SAND-CEMENT BAGS		CY						
0165 0530 3 3		350.000	100.00000	35,000.00	500.00000	175,000.00	300.00000	105,000.00
RIPRAP- RUBBLE, BANK AND SHORE		TN						



Tabulation of Bids

Page 6 of 7

Letting: 04260109 January 09, 2026			Call Order: 004		Contract: E4Y52			
Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) P&P CONTRACTING, INC.		(2) BRIDGE MASTERS CONSTRUCTION, LLC		(3) JONES BENITEZ CORPORATION	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH)								
0170 0561 2 COATING EXISTING STRUCTURAL STEEL		350.000 SF	100.000000	35,000.00	100.000000	35,000.00	250.000000	87,500.00
0175 E101 72 MOBILIZATION (EMERGENCY RESPONSE)		2.000 EA	5,000.000000	10,000.00	10,000.000000	20,000.00	15,000.000000	30,000.00
0180 E101 74 MOBILIZATION (SPECIALIZED)		2.000 DA	5,000.000000	10,000.00	10,000.000000	20,000.00	10,000.000000	20,000.00
0185 E460 19 1 ARMOR ANGLE (REMOVE)		100.000 LF	200.000000	20,000.00	100.000000	10,000.00	250.000000	25,000.00
0190 E460 82 BOLT TIGHTENING		100.000 EA	200.000000	20,000.00	100.000000	10,000.00	250.000000	25,000.00
0001 TRAFFIC CONTROL Section Totals: DEVICES CONTROL (MH)			\$789,420.00		<b">\$1,151,265.00</b">		<b">\$1,296,900.00</b">	

Contract Grand Totals:	\$789,420.00	\$1,151,265.00	1,296,900.00
-------------------------------	---------------------	-----------------------	---------------------



Tabulation of Bids

Page 7 of 7

Letting: 04260109 **January 09, 2026**

Call Order: 004

Contract: E4Y52

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.